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MENSITT R

STy d)LTi5

JIE 45z E 4 OUT | IN | GR | HDCP | NET =
B MR FEKRER 40 | 40 | 8.0 32.0
#E SR BX 43 | 43 |10.4 132.6
3 |kHF &-— 51 | 51 [17.6 |33.4
4 IRHE IE 48 | 48 [14.0 134.0
5 =M BRE 52 | 52 [18.0 |34.0
6 %EE [z 38| 38| 3.2 34.8
7 L XE 48 | 48 |12.8 135.2
8 AKX FNE 41| 41 ] 5.6 |35.4
9 FE % 41| 41| 5.6 354
10 #H# K& 47 | 47 [11.6 |35.4
1| =4 = 45 | 45| 9.2 |35.8
12 |K.U 38| 38| 2.0136.0
13 | A 44 | 44 | 8.0 136.0
14 |1&88 XF 54 | 54 [17.6 |36.4
15 {&ik B 46 | 46 | 9.2 136.8
16 |fEtr 2= 45 | 45| 8.0 137.0
17 | 8EH £7 51 | 51 [14.0 |37.0
18 |BiE BAF 49 | 49 [11.6 |37.4
19 | B&Il 8T 55 | 55 [17.6 |37.4
20 &% BR 48 | 48 |10.4 1 37.6
21 |E;| HiTF 48 | 48 |10.4 1 37.6
22 B EBEZ 54 | 54 |16.4 |37.6
23 &% I 46 | 46 | 8.0 138.0
24 |ME B 52 | 52 [14.0 138.0
25 |dbfE B 50 | 50 |11.6 |38.4
26 R RAI 50 | 50 [11.6 |38.4
21 |=i# BA 57 | 57 |17.6 |39.4
28 48 £&F 50 | 50 [10.4 139.6
29 AR FE 48 | 48 | 8.0 [40.0
30 |4l XF 54 | 54 [14.0 140.0
31 |hE HEE 54 | 54 [14.0 140.0
32 | KN Mz 56 | 56 |15.2 140.8
33 F BME 59 | 59 [18.0 |41.0
BBE #i K f& 52 | 52 |10.4 41.6
BME |#/ £ BhfT 44 | 44 | 2.0 142.0
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